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]ntroduction to “manrynn pig’ — v g

Until here, the n>om has focused on the proper procedure for each of the 1377 and those actions and intents that may invalidate. This 779, as seen
from its cognomen, deals with the results of marwn—mixture of valid and invalid 1112277, mixture of pony/ow7zand marwnof other v NN
28.8.1
70b ('8 73wp) > 73a (7501 K5)
I ’® mwn: mixture of D'W7p with animals that are slated to die
a if: DwTp got mixed with mnn mron or Ypoin MV — all must die — even if there are many v*w7p and one “problem”
b butif: »wIp got mixed in with nam *5109, we have each graze until it develops a o1n, is redeemed
i then: the owner brings a 129p from the same type, as of the value of the nicest (most expensive) one in the lot
ii  thelist:
1 used for nvay (may be a topic statement on list or refer specifically to bestiality)
2 killed a person —but there’s only one witness (or the owner admitted to it);
3 yam yan — used for bestiality
4 n¥pmn (set aside for nar nay) Tay1 (was worshipped)
5 (n1) INR or (293) 1NN
6 1910 (had a mortal wound) o855 (a “hybrid” animal) and 1977 XV (was born via “C” section)
¢ and if: the wTp got mixed with p5in (without oin), sell them to people who need that type for j27p
II 72 mwn: mixture of 0*w71p with other nwp
a  If: pwp got mixed with other mwTp
i If: they are both the same type of 129 (e.g. "2 — but of different owners) — each should be brought for one donor
ii  But if: they are of different types (i.e. same animal, different n1a1p)
1 Then: they must be allowed to graze and each one is redeemed when it becomes permanently blemished
2 Then: owner brings each of these ni17p @ value of the greater of the two —the differential made up by him
3 If: they get mixed in with 7122 or nnna YWYN, once redeemed, must be eaten as 7131 (or TWyn)
(a) Meaning: can’t be sold, weighed etc. per R:n m712
iii Note: any mron could theoretically get mixed except for nkon and nwr
1  Reason: nWR is only a ram; the only sheep used for nxon are ewes
III  Analysis:
a  Challenge (to '8 m1wp): already taught (3 7nn) — anything that is narn% MoR prohibits (a mixture) X1nw Y32
b  Answer: that mwn only teaches that the mixture is narn% 7oK — not for personal use (for that, we’d assume 2y12 %10°2)
i And:if we only had our mwn, we’d limit it to nX1n ™R (i.e. Mnn MmroYN and YpoIn NY)
ii  Challenge: our mwn also teaches narm o4 (e.g. 1INR)
1 Answer: but in that part of the nawn, no MW is given — X1NW 93 is only stated in X:1 NNN
2 Challenge: why not learn nmnn only — no need for (that part of) our niwn
(a) Answer: our mwn needed for the solution (let it graze etc.)
iii ~ Challenge: the Mo*R of maryyn affecting mundane use is also taught elsewhere (v:n ")
1 Justification: if we only had 1"y mwn, we would have assumed that v”>1 1798 only applies to mundane
(a) But: for »wTp, we don’t want to lose them all — allow 2172 %102
2 And:if we only had our niwn, we’d have assumed that v”> 170°R applies only to w1y — due to sanctity
(a) But: that doesn’t apply to 11 and they should be 2172 502
(b) Question: why, indeed, aren’t the animals that are nk1n2 7oR — why aren’t they 1112 5va?
(i) If: suggest that it is because they are significant and sometimes sold by count
1. Then: that is only valid argument for 9", who says that n™’s ruling (:3 n%7) is anything that is
sometimes sold by count (nm’% 1597w 5) is never Y01 (re: NY7Y or BIIN INRYI)
2. But: according to 130y "3, who reads that that ruling is limited to man% 1397w 1¥ (always sold by
count) — doesn’t answer nnna, which is sometimes sold as a group (flock)
(c) Answer (97): our Rin is the Rin of "My’ep R1VY”, who rules that anything that is sometimes sold by count
- even if an 13297 MR — is never Y01 — certainly if it is an XNYMIRT NOR
(i) Case: if he pressed a X109 of nn1In dried figs in a press or hive or barrel and forgot which press etc.
1. »”1. holds that 8™ allows 9’2 within press; Yv1i’ 3 demands 100 times as many presses
2. 7177 "1 holds that 8”1 demands 100 times as many presses; YW1’ 1 doesn’t allow for 021 at all
(d) Answer (»wx ’7): can’t compare mnna to M9 etc. — Mnna are independently significant and not Y02
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